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Begriddled is a new kind of pencil and paper puzzle where you join numbers to reveal hidden
words, pictures, and even other puzzles.

There are two versions:
- Regular puzzles, where you are given the sequence of numbers (or other characters)
to join;

- Logic puzzles, where you must work out the sequence for yourself.

This selection of puzzles is drawn from the books Begriddled! A New Kind of Puzzle, ISBN
978-1-9163250-0-5, and Begriddled! Logic, ISBN 978-1-9163250-1-2.

Both books are available from Amazon.
For more about Begriddled puzzles, please visit www.begriddled.com.

If you'd like to be notified of new Begriddled books at the best price, make sure you join my
Begriddled mailing list at www.begriddled.com/mailinglist.

For solutions visit

www.begriddled.com/solutions

and enter the code beneath the puzzle.
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Part One

Regular Puzzles

Six Begriddled regular puzzles from the book
Begriddled! A New Kind of Puzzle
ISBN 978-1-9163250-0-5

Available from Amazon
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How To Complete a Regular Begriddled Puzzle

A Begriddled puzzle consists of a grid of numbers, or other characters, and

a circular sequence that tells you how to join those together. ~N 1-3 .
Here's an example. o on
s o
&-L°

There are three simple rules. The first is so trivial and cosmetic that it hardly warrants the
term. So I call it Rule 0.

Rule 0: Dots are dots.

Rule 1: Except for dots, join vertically and horizontally adjacent characters
that are the same.
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Rule 2: Join diagonally, vertically, and horizontally adjacent characters that
are next to each other in the sequence.

The characters in the circle always have their bases pointing towards the centre. So you
could tell which is which of the 6 and 9 even if they weren't in the obvious order of this
example.

That's really all there is to it.

The sequence can be any ten different characters in any order. If it contains letters then
upper and lower case are treated as being the same.

You can view a video of a version of this example with a different sequence being completed
at www.begriddled.com/regular-howto.
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Odd One Out

Which four letter word can be added to the end of each row and last

column of letters in this puzzle?

Which is the odd one out?

570>

3-4
6-%

SN

For solution visit www.begriddled.com/solutions and enter BFEGBD

Begriddled books on Amazon
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Don't Stand There!
Best get out of the way pretty sharpish if you get this view. 1-0
IVI \\))
~ o
Y
§-1
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For solution visit www.begriddled.com/solutions and enter MSKJ]
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Remember Your Paddle!

Imagine this. Best not attempt it for real.

Launch your canoe at Blackfriars Bridge and head west out of London along the Thames. No
view of Tower Bridge.

Paddle as far as Windsor and get out a little downstream of Alexander Park.

Which place do you see across the river?

36 0590146 38 313 6 01040 9
01 41456 3 7 3 2 7 6 45 6 3 8 45
6 8 0 2 5 7 1 6 8 2 7 15 0 6 06 0 9 0
757 1 6 7 6 3 46 2 7 1 4 04 3 7 0 9
2 5 0 2 3 45 85 25 45 2 3 25090
9981 81 2 3 9 902 4 9101500 8
8 7 2 7 2 1 7 2 5 9 45 05 6 5 9 4 8 9

For solution visit www.begriddled.com/solutions and enter XQBWB
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Big League Aspirations

I've mixed feelings about the advice in this puzzle. Often it just isn't the sensible thing to do.
But if I could go back and have a word with my younger self about it, I'd say, "go for it!"

d b i d e y r i a 1l d g g vy
i e d e i m i r 1L d m d m i
g d L e y i 1 a b 1 1 i e i
b a b a m m y m r g 1 m d m
g b d 1 r i r i m y e d i 1
b d 1T b g a m vy e m b e m i
a b a r I m b d r b g y 1i r
L r r i m e d g b a r a y i
b r i e 1 g e e g r i g i r
m d r m g d a m d r b 1 b e
e b m r m g d U i 1 a d r 1

For solution visit www.begriddled.com/solutions and enter GXHGK
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Twist and Turn

There's just one way through this. You'll see what I mean when you've made the connections.

.8-3.

0 0-s
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For solution visit www.begriddled.com/solutions and enter GCGHQ
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Sudoku

2 20

1-4
c-9°

<5

givens" (the starting numbers in any given Sudoku puzzle) by completing the Begriddled

part of it.
Fill in the puzzle so that you have nine rows made up of the nine numbers 1 through 9. Every

row, column and each of the nine 3x3 squares must contain all nine

Begriddled Sudoku is the same as the standard version except you first have to find the
numbers.

separate each row and column, so every number goes into its own little

A superficial difference is that most Sudoku puzzles have lines drawn in to
box. You can draw these lines in yourself if you wish!

The rules are, simple:

"

3040860717192 42607057 357715173

8 2 02 7 2 35 3|23 049 400528|1 483548196
31382 9417|4040 42 7025|6096 009 2 31
0 80 3136 25050707 2 817|43 47 42 3 2 8
1 0108 6 8 311518028 07 2102 9 5 9 3 1 3 2
32057 858695027 03547|43 1616 8 28
9 847 6 7 6 57|57 87 457 95|96 8 368717
6 1702 9 47 6|7 8546 7 9459|136 5226 353
55325275 7}576 965846 91|3619518717

1 80407 80475914155 2|88 9 6 102 96
8158 98 07 05957 35906106 9 3 27429

1 56 7 87 85 8|16 46 6 2 8 438|352 49 4075
818576 5051856 97 802 3|6 49 3 475207
6 81 86 8157|619 7 203 409|493 96520 85
75058159 419 3 2943 436|193 21512856
6 8 515016 3144126 2049|6108 905°86 7
56 18 010 296 7 053 5456|93 24147 405
6 1 6 3 10253|157 26 2769|3238 9 8¢6 70

9 586 2 2046|9647 47 85156]19 3 16 2 688 4
321090759649 29 2019|112 3090171
2 6 02 2656 1|3 97 4212 3 1|3 186 2 6 4 8 8
8 31 07 87 8 3/]96 47 08 3 023|626 87 97 6 3
0 2085408 2 1|3 47 583 2 3 4109 0526 4549

8 78 7 85 08 219 2 9 6 18 3 2 0|52 6 7 59 45 4
6 8 7 06 07 2 712 315538018 449 46 5 47
76 598 9 352|808 6 710231909 27 495¢6
59106012 7|08 53838 4302|8487 96 56 9

For solution visit www.begriddled.com/solutions and enter ZKGGX
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Part Two

Logic Puzzles

Six Begriddled logic puzzles from the book
Begriddled! Logic
ISBN 978-1-9163250-1-2

Available from Amazon

I created this set shortly before publication and one of these went in slightly

modified. So, tautologically speaking, the version here is different.
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How To Solve a Begriddled Logic Puzzle

Begriddled logic puzzles work just like regular ones except that you must work out the
sequence for yourself. You do that using given "logic rules," for example, that no shape is
more than three numbers wide or tall.

A little terminology will help convey these rules.

Line segment (or simply, a segment)
A line drawn between two adjacent numbers.

Shape
A full set of line segments that all join together.

Here's an example that contains just a few letters. You can see a video of it being solved at
www.begriddled.com/logic-howto.

The logic rule is: No shape is more than three numbers wide or tall.

There will be more than one way to discover the sequence for this puzzle. The following
steps are the way I went about it.
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Step 1: Join and use the bunch of 3s at the top left

When you join the 3s at the top left you get a shape (or, at least, part of a shape) that is
already at the maximum width and height of three numbers, as given in the logic rule.

Notice that if 3 were to join to any of 7, 6, 4, or 2 at the top, 0 to the right, or 1 or 8 at the
bottom, the resulting shape would be four numbers wide or tall. This would break the logic
rule. So none of these can join to 3.

The only remaining numbers, apart from 3 itself of course, are 5 and 9.

Therefore 3 must lie between 5 and 9 in the sequence: 5-3-9.

Step 2: Join and use the column of 8s near the bottom left

These also make a shape three numbers tall, so nothing can join to it above or below.

So these 8s cannot join to the 2, 9, or 7 above, or the 0, 3, or 5 below, though we already know
it can't join to the 3 from the previous step. Out to the left from the top of these 8s, if 8 joined
to 1 then there would be a line four numbers wide. So it can't join to 1 either. There are only
two possibilities left: 4 and 6.

Therefore 8 must lie between 4 and 6 in the sequence: 4-8-6.
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Step 3: Join the vertical 5-3-5 as shown below

We now have two parts of the sequence: 5-3-9 and 4-8-6. So we know we can join the 3 to 5
to make another line three numbers tall.

If 5 were to join to any of the numbers above or below, we'd have a shape at least four
numbers tall. So that rules out 0, 2, 4, 6, and 9. We can see the 5 can't join to the 9 anyway
because the 3 lies between the 5 and 9, in one of the parts of the sequence we've already
worked out.

We've also already ruled out 5 joining to the 8, and if it joined to the 7 we'd have a shape four
numbers wide, as shown. That just leaves 1, and the 3 we've already worked out.

So 5 joins to 1 and 3. So we now know the following sections of the sequence:

1-5-3-9 and 4-8-6
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Step 4: Sort out the 6s

There are several 6s down in the bottom right that we can use, together with the vertical 4-8-
6 at the bottom middle left.

This rules out 6 joining to 1 or 2 (bottom right) or 7 or 9 (left middle). The 3 and 5 are ruled
out because their connections are already decided, and the 4 also, because we already know
it's the other side of the 8 from the 6.

The only possibility left is 0, which must therefore join to the 6.

So we now have 1-5-3-9 and 4-8-6-0 as sections of the sequence.

Step 5: Work out what 4 joins to

We can already see from the sections of the sequence that we've worked out already that 4
cannot join to 0, 3, 5, or 6. So, as well as the 8 we've already decided, it must join to one of 1,
2,7,0r9.

Joining a pair of 9s and the 4 to the 8 as shown in the next picture, we can see we can rule
out the 1 and 9 because they result in a shape either four numbers tall or wide. There's a four-
number tall 4-2-4-2 near the top right that elminates the 2.

So the 4 must join to the only number left, 7.
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Step 6: Place the last number, 2

Two must join to two of 0, 1, 7, and 9. But we can eliminate the 0 and 1 in the usual way:
either would result in a shape too wide or tall on the right, as shown below.

So we have 7-2-9.

Step 7: Join it all up

There's only one way we can fit what we've worked out into the sequence - remember it
doesn't matter which way round it goes. All that matters is which numbers connect to which.

Let's do that, and fill in the rest of the puzzle.
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Angelic Cardiffian?

This first puzzle has a simple logic rule: Each number on the puzzle is either at the end of two

line segments (has two lines joining it) or none at all.
The online solution includes a video showing this being solved.

4 48 46 8 0 3580976 4049803806
4 5592 48405780137 853752920
8 581257 97 8 8524956 916 85 8
6 757 6 9 3 9 3 6 3 96 90 3 2 40847 2
2 01 384756175843 90638101 3 8
7452 3 214146 0536 3 9197106 8320

1 614 48 42653536 3 0¢67 202409
6 1 54559086 8 26 9430908475
5418508 295408580 98 26 95 8

1 6 7 6 757 2 47 42 496 3817 913320
719 20136 85946 2029296 2073
9 278 96 435307 38928 38357101
7981 3 756 263851318 2549 3138

6 0 7 08 49 2 49 4526071426 6 27

0 981 6 17086 2 70380382746 9420 9
707 02 98 2010316 271980418
9 76 47 27 98 96 45414216 213 2

For solution visit www.begriddled.com/solutions and enter WMCDS

Begriddled books on Amazon
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Four Gemstones

Find four Gemstones.
There's a regular pattern to how the letters are arranged.

Logic Rule: No shape (set of joined line segments) is more than three ,
numbers wide or tall.

~ O© B~ 00O W B N O O W O bH
o W U1 O oo U o u o U1 ~ U,
AN N RO R N WN O N W
N O & N O N b O NN N W B
A O 4 W U1 W o0 A P N U N
0o A H N W U 9 O O U1 W v
SO oo N B P NP &~ 0 U OO0 O
= W O 4 00 =B U1l W Ul O W v
N O d N U1 9 W O W +»r O o
o O =B U1 O U O H~H O »~ U1 WU
SO W O N &~ W NN O N U OO0 U
0 N 00O U1 O VW 00 O 00 h~ © b

For solution visit www.begriddled.com/solutions and enter FYFRY

© 2020 Nick Rice 19 Begriddled books on Amazon



www.begriddled.com

By Jove!

Complete this puzzle to reveal a number of letters, then rearrange them to form the names of
of two well known mythological beings: An ancient Greek god and a Roman one. Or perhaps
they are really two names for the same one.

To make the task a little more challenging, the letters can be any way up. So although it's
obvious what most are, some are ambiguous. The following pairs (and one trio) of letters look
identical:

-Cand U;
-E, M, and W;
-HandI;
-Nand Z.

Logic Rule: No shape (set of joined line segments) is more than three
numbers wide or tall. .o

U 4 B © W 0O = H O P ©©
A O N OO0 0o o o U W wvuw o
0 = o N = O U A~ O© N W
OO ©W O VU W U1 O W YN W H
w 00 o »r N N DA = OO = WU
o © N R b~ NN O WPk w o
U o w U1 U1 oo oo ~ O N W
© = N N b U0 B N O W ©
o 0O O O U R, N R M R, o
A = 00O O 00O A~ O N O N U
= o0 O UI © O N oo U N
o H» P A P b~ O B~ N 0 O
N BN U AU 9 U O W

For solution visit www.begriddled.com/solutions and enter WBMXM
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What Goes Round

The completed puzzle contains a single shape - if the lines were roads you'd be able to drive
to anywhere on a road in the puzzle to anywhere else on a road, without ever driving off the
road.

The solution at pzl.one/bghpz includes a video demonstrating this puzzle
being solved.

Logic Rule: There is exactly one diagonal segment in the whole puzzle.

N W o0 &~ W
w o w O M=
© U =B = A
N O N NRH
O P d O W!bm
o 00 N N O
Ul W U1 o N

For solution visit www.begriddled.com/solutions and enter BQHPZ
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Begriddled! Battleships

Begriddled! Battleships is a begriddled logic puzzle inspired by the pencil and paper game I
played as a child back in the 1960s. We called it Battleships, with an s, and had submarines
consisting of a single square.

I'm doing the same.

I experimented with more friendly names, along with fitting names for the shapes it uses. But
in the end none of these seemed right, and I went back to the old familiar ones, with the
addition of a cross for an oil rig.

In this version we're not out to sink anything. Your task is to map out the ships and any oil
rigs in the area using a coded transmission from a reconnaissance drone flying high above.

All you need to do is join the numbers in the usual way using the code sequence at the end of
the transmission.

Unfortunately, a bug in the drone's firmware causes the transmission to be truncated before
the sequence is sent.

You'll just have to work it out for yourself. But at least you get told all the shapes you might
find encoded.
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Begriddled! Battleships Shapes

Oil Rig Cruiser
Submarine Battleship
Destroyer Aircraft Carrier

The search area can vary from puzzle to puzzle. So can the number of ships and oil rigs. And
they can also touch.

Here are all the Begriddled! Battleships shapes in every possible orientation, moored up
together.
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Battleships 1

Find:
- One battleship
- Two cruisers
- Three destroyers
- Four submarines ‘ .
- Two oil rigs

There are no aircraft carriers.

w B 99 W O o W v W N ©©
N O W YN U1 B0 R OO B~N
W 00 O 00 N U W © O N K=
U B O = U1 00 O U1 N O
w o o U1 B O O U1 =B O O
N wWouo o N DR~ PO O NS
o U1 N =B 00 O OO W K= b~
= O ~ O O O 00 ~ N O O
o W W = N O N 0 & 00 O
oo ~ U1 00 O ~ O W N B~ DN
H N W O O = O Ul 0o O

For solution visit www.begriddled.com/solutions and enter KTHPF
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Battleships 2

Now you've practiced your Battleships code breaking skills, the hand holding is over.

Work out the sequence and find all the ships and rigs in this puzzle.

How many of each are there? That's for you to find out.

Is there clear blue water between them all or do any touch? That too, is for you to find out.
Do any overlap? No, that would be ridiculous.

Are any missing altogether? Sorry, not saying. . N

The online solution includes a video of this puzzle being solved.

o = U1 © W O W UL
A N O N B 00 = N
© N © ~ O O N BB
Ww o0 o U1 W N = BH
0 N B~ N R B~ U1 O
w N N O 00 O o o
AP O W U 94 W
N O W =B O W YN W

For solution visit www.begriddled.com/solutions and enter HNFND
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Logic Puzzle Worksheets

You can use these work sheets however you like to help solve the logic puzzles.

1|2

/ \ / \

| | |

\ / \ /
- - - -

/ \ / \

| | |

\ / \ /
- - - -

/ \ / \

| | |

\ / \ /
- - - -

/ \ / \

| | |

\ / \ /
- - - -

© 2020 Nick Rice 26 Begriddled books on Amazon



www.begriddled.com

\ / \ /
~ - ~ -
/ \ / \
| I I
\ / \ /
~ - -~ -
/ \ / \
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